CIRCUIT BOARD HARDWARE

LCBSB Material: Nylon 6/6, RMS-01 Material: Nylon 6/6, RMS-01
Lockin g Circuit Board Color: Blue . Color: Natural Stadard Pk 1006 por b
andard Pack: 5 1
Support on Base Part Number 1,000 per bag Part Number A"+ 015 (0.4)
70 (17.8) sa “A” + 0.4mm LCBSB-3-01A-RT 3/16 (4.8)
$| ) r LCBSB-6M-01A-RT 6.0mm LCBSB-4-01A-RT 14 (6.4)
I LCBSB-8M-01A-RT 8.0mm LCBSB-6-01A-RT 3/8 (9_5)
LCBSB-10M-01A-RT 10.0mm LCBSB-8-01A-RT 112 (12.7)
1 N LCBSB-12M-01A-RT 12.0mm LCBSB10-01ART 5/8 (15.9)
LCBSB-14M-01A-RT 14.0mm LCBSB-12-01A-RT 3/4 (19.1
08 LCBSB-16M-01A-RT 16.0mm LCBSB-14-01A-RT E (22'2)
| "lenr Part available in V-0 material by special Sabdebl (22.2)
Z%SS”EZP&)L)()&KO(';; A order. To order, replace -01 with -19. LCBSB-16-01A-RT 1(254)
(0.08) DIA. HOLE, Part also available without adhesive. LCBSB-18-01A-RT 1-1/8 (28.6)
40 (10.2) IN A 082 (1.57) To order, remove A-RT. For new "A” Part available in V-0 material by special order.
{ THICK BOARD dimension subtract 1/32" (0.8mm). To order, replace -01 with -19.
1 Adhesive Backing, RMS-15 - - -
Part also available without adhesive. To order, remove A-
RT. For new ”A" dimension subtract 1/32" (0.8 mm).

>

TYPICAL RELEASE
TAB LOCATION

7

DOUBLE ADHESIVE TAl

| 1
/ .08 (z.o)j
1/32 (0.8) THICK

PE

Adhesive Backing, RMS-15

SCBSB-XX-01A-RT with .30" long, #6-32 threaded stud
top available by special order. Use part number HN#6-32-
01 as a mating nut. SCBSB available in V-0 material by
special order. To order, replace -01 with -19.

CcBSB Material: Nylon 6/6, RMS-01
Circuit Board Support on Base Color: Natural
Part Number Standard Pack: 1,000 per bag
f "A” +.015 (0.4)
’\ 7o CBSB-3-01A-RT 3/16 (4.8)
_ L (17.8) CBSB-4-01A-RT 1/4 (6.4)
\’ SQ. CBSB-6-01A-RT 3/8 (9.5)
CBSB-8-01A-RT 12 (12.7)
CBSB-10-01A-RT 5/8 (15.9)
TO SNAP—FIT IN A
156 (4.00) +.003 o 28 CBSB-12-01A-RT 3/4 (19.1)
(0.08) DIA. HOLE, 7.1 CBSB-14-01A-RT 718 (22.2)
IN A 062 (1.57) CBSB-16-01A-RT 1 (254)
(,0 2) CBSB-18-01A-RT 1-1/8 (28.6)
Part available in V-0 material by special order.
To order, replace -01 with -19.
wen .08 (2.0) | Part also available without adhesive. To order, remove A-
A J RT. For new ”A" dimension subtract 1/32" (0.8 mm).

i 1/32 (0.8) THICK ~~—

DOUBLE ADHESIVE TAPE

TYPICAL RELEASE
TAB LOCATION

Adhesive Backing, RMS-15

1/32 (0.8) THICK
DOUBLE ADHESIVE TAPE
WITH RELEASE TAB

1/32 (0.8) THICK
DOUBLE ADHESIVE TAPE
WITH RELEASE TAB

CCBSBT-XX-01A-RT with Cupped,
Teardrop-style top available by special
order. CCBSBT available in V-0 material
by special order. To order, replace -01
with -19.

LCBSBM Material: Nylon 6/6, RMS-01 | CBSBT Material: Nylon 6/6, RMS-01
. . . N | - = .
Locking Circuit Board Support | t0lor: Natural s | Circuit Board Support on Base, | tolor: Natural S Pack
. tandard Pack: :
on Base, Mini Part Number 1,000 per bag | Teardrop Part No. 1000 per bag
"A"+ 015 (0.4) | | “A" +.015 (0.4)
- (1'207) - LCBSBM-3-01A-RT 3/16 (4.8) ! { | CBSBT-3-01A-RT 3/16 (4.8)
- I. TCESETS 4 (64) 50 [ CBSBT-4-01A-RT 1/4 (6.4)
o : LCBSBM-5-01A-RT 5/16 (7.9) L (12.7) — (D — ggz:x'glfg 5;86(;7;)
. | i sQ. -6-01A-| .
262 LCBSBM-6-01A-RT 3/8 (9.5) I T0 SNAP=LOCK IN
i 1 LCBSBM-7-01A-RT 7116 (11.1) ! | A 100 +.002 CBSBT-7-01A-RT 7116 (11.1)
am oo - R B S e
— (4.4) LCBSBM-9-01A-RT 9/16 (14.3) ! 08 (2.0) A 064 (1.63) CBSBTI00TART 5 (15'9)
TO SNAP—LOCK IN A .125 +.002 LCBSBM-10-01A-RT 5/8 (15.9) | { MAX. THK. BD.
(3.18 +0.05) DIA. HOLE, IN A r Yy ; : ! Part available in V-0 material by special
062 (1.57) THICK BOARD\ E:dr;:‘tlg":rl:il:r,lnre\:)lgcg]?:ﬁl"\?\li:]hy-S1p‘;ual i }—F order. To order, replace .01 with -19.
. Adhesive Backing, RMS-15
Part also available without adhesive. | A L . 9 - -
To order, remove A-RT. For new A" | Part also available without adhesive.
dimension subtract 1/32" (0.8mm). } T 7/64 J’ (Ti(') order, reml;)tve It\-1R/Té;9r gegv “A"
imension subtrac .8mm)
Adhesive Backing, RMS-15 | (2.8) ( )
|
|
|
|
|
|
|
|

773-539-4060 Samples: 1-800-621-1892

1"

&>
Richco



CIRCUIT BOARD HARDWARE

DLCBST
Dual Locking Circuit Board Material: Nylon 6/6, RMS-01
Support, Teardrop Color: Natural
’ Part Number Standard Pack:1,000 per bag
“A" x 015 (0.4)
DLCBST-1-01 116 (1.6)
DLCBST-2-01 1/8 (3.2)
11/64 DLCBST-3-01 3/16 (4.8)
(4”37) TO SNAP—LOCK IN A .100 (2.54) DLCBST-4-01 1/4 (6.4)
+.002 (0.05) DIA. HOLE, IN DLCBST-5-01 5/16 (7.9)
A .064 (1.63) MAX. THK. BD. DLCBST6-01 38 (95)
(BOTH ENDS) DLCBST-7-01 716 (11.1)
DLCBST-8-01 12 (12.7)
08 DLCBST-9-01 9/16 (14.3)
(2.00) DLCBST-10-01 5/8 (15.9)

Part available in V-0 material by special order.
To order, replace -01 with -19.

CHDLCBST-XX-01 with Cupped, Teardrop-style top
available by special order. CHDLCBST available in V-0
material by special order. To order, replace -01 with -19.

DLCBSAT Material: Nylon 6/6, RMS-01 | LCBST Material: Nylon 6/6, RMS-01
Dual Locking Circuit Board Color: Natural i Locking Circuit Board Color: Natural
Standard Pack: Standard Pack:
Support, Arrowhead/Teardrop part Number 1,000 per bag | | Support, Teardrop Part Number 1,000 per bag
“A" + 015 (0.4) | | "A" x 015 (0.4)
. DLCBSAT-2-01 178 (3.2) ! LCBST-1-01 1116 (1.6)
©5) DLCBSAT-3-01 3/16 (4.8) ! LCBST-2-01 118 (3.2)
J REF. l‘ DLCBSAT-4-01 1/4 (6.4) ! @ LCBST-3-01 3/16 (4.8)
DLCBSAT-5-01 5/16 (7.9) I 11/64 _I L_ LCBST-4-01 114 (6.4)
s/3 J—@ 1(1“{2; DLCBSAT-6-01 3/8 (9.5) N CY)) TO_SNAP—LOCK IN A .125(3,18) _ LCBST5-01 5116 (7.9)
(4.0) T0 SNAP—LOCK IN A .100 (2.54) | DLCBSAT-7-01 716 (11.1) | $g2(1('5»7)5m% A /lIBOARD' LCBST-6-01 3/8 (9.5)
£002 (0.05) DIA. HOLE, IN A DLCBSAT-8-01 172 (12.7) ! i LCBST-7-01 7/16 (11.1)
{064 (1.63) MAX, THICK BOARD DLCBSAT-9-01 9116 (14.3) Iy LCBST-8-01 12 (12.7)
8 DLCBSAT-10-01 5/8 (15.9) ) i LCBST-9-01 916 (14.3)
(2.0 ('21,2) Part available in V-0 material by special| | T - LCBST-10-01 5/8 (15.9)
REF. order. To order, replace -01 with -19. | | i A Part available in V-0 material by special
CDLCBSAT-XX-01 with Cupped, ; T order. To order, replace -01 with -19.
Teardrop-style top available by special | 1 :
5/32 TO SNAP-LOCK IN A 125 (3.18) | order. CDLCBSAT vailable in > (0 ) \_L‘?OE%A%%O%’?AAA&ES(Z.@‘) iy 'ﬁ; §32€.§‘.’J§2{"E"&§§¥"’
“0) 11.(1)%2 goéosﬂo%wrﬂ%f'p'ﬂﬁ V-0 material by special order. To order, | | R ORI available in V-0 material by special order. To
/18 (1.6) NOM. replace -01 with -19. | order, replace -01 with -19.
|
|
|
SCBSM Material: Nylon 6/6, RMS-01+ Color: Natural
Studded Circuit Board 3/16 Standard Pack:
o (4.8) Part Number 1,000 per bag
Support, Mini _{ “A” Dim + .015 (0.4)
SCBSM-632-2-01 118 (3.2)
11/64 _{ SCBSM-632-3-01 3/16 (4.8)
(4.4) SCBSM-632-4-01 14 (6.4)
SCBSM-632-5-01 5/16 (7.9)
TO SNAP—LOCK IN A .125 +.002 SCBSM-632-6-01 3/8 (9.5)
(3.18 +0.05) DIA. HOLE, IN A SCBSM-632-7-01 716 (11.1)
.062 (1.57) THICK BOARD SCBSM-632-8-01 112 (12.7)
SCBSM-632-9-01 9/16 (14.3)
SCBSM-632-10-01 5/8 (15.9)

Part available in V-0 material by special order. To order,
replace -01 with -19.

MSCBSM-M3-XX-01 or MSCBSM-M4-XX-01 with M3 or
M4 threaded stud bottoms available by special order.
MSCBSM available in V-0 material by special order. To
order, replace -01 with -19.

Mating Nuts Thread
#6—32 THREAD HN#6-32-01 6-32

HN-M3-79 M-3

HN-M4-01 M-4

I << 5
14 R],chcd” 773-539-4060 Samples: 1-800-621-1892



CIRCUIT BOARD HARDWARE

SRLCBS Material: Nylon 6/6, RMS-01
. . . . TO SNAP—LOCK IN A .156 +.003 .
Snap Rivet Locklng Circuit Board (4.0 £0.08) DIA. HOLE, IN A Color: Natural Standard Pack
.062 (1.6) THICK PANEL/BOARD andard Fack:
Support (18) / Part No. 1000 per bag
] “A" + 015 (0.4)
40 (102) SRLCBS-6-01 3/8 (9.5)
’ ' SRLCBS-7-01 7/16 (11.1)
i SRLCBS-8-01 12 (12.7)
SRLCBS-10-01 5/8 (15.9)
SRLCBS-12-01 3/4 (19.1)
{ A" SRLCBS-14-01 718 (22.2)
L 20 (5.1) SRLCBS-16-01 1(25.4)
1 I T Part available in V-0 material by special
I order. To order, replace -01 with -19.
) - (16/.:) == SRLCBS
16 (4.1) DIA. i
—— l bz ~— BOARD
Use Richco Rivet # For Chassis Thickness A
SR-4050 1026 (0.7) - .062 (1.6) 28 (7.1) }—t ~ CHASSIS
SR-4060 .062 (1.5) - .105 (2.7) }7
SR-4070 105 (2.7) - 145 (3.7) e 07 (1.8) SNAP RIVET
SR-4080 145 (3.7) - 184 (4.7) ’
SR-4100 223 (5.7) - .263 (6.7)
SRLAHS Material: Nylon 6/6, RMS-01 | SRSCBS Material: Nylon 6/6, RMS-01
. . Color: Natural ! . . . Color: Natural
Snap Rivet Locking Arrowhead | Snap Rivet Studded Circuit
s t Standard Pack: | B ds t Standard Pack:
uppor Part No 1000 per bag | | oard suppor Part No. 1000 per bag
19 Suestoce 4 o003 W 0504) | A+ 075 (04
.062 (1.6) THICK BOARD/CHASSIS SRLAHS-7-01 7/16 (11.1) | #6-32 THREAD SRSCBS-6-01 3/8 (9.5)
SRLAHS-8-01 12 (12.7) ! 30 (7.6) SRSCBS-7-01 7/16 (11.1)
7/32 (5.6) A1 (2.8) SRLAHS-10-01 5/8 (15.9) ! 1 SRSCBS-8-01 12 (12.7)
SRLAHS-12-01 3/4 (19.1) | SRSCBS-10-01 5/8 (15.9)
: r SRLAHS-14-01 7/8 (22.2) | e i SRSCBS-12-01 3/4 (19.1)
X X SRLAHS-16-01 1(25.4) | 2 6. SRSCBS-14-01 7/8 (22.2)
| " | Part available in V-0 material by special | L i SRSCBS-16-01 1(25.4)
; i =t | order. To order, replace -01 with -19. ! Part available in V-0 material by special
! .20 (5.1) | ! 1/4 (6.4) SRIGBS ) asTic #6-32 HEX NUT order. To order, replace -01 with -19.
IE T I ’TT1 | -16 (4.1) DA PART NO. HN#6-32-01 | Part available with an M-3 or M-4
! ! I thread by special order. To order use part
1/4 (6.4) SRLAHS } ~— BOARD number SRSCBS-M3-XX-01 for M-3
16 (4.1)DIA. I / 28 (7.0 { thread. Use part number SRSCBS-M4-
{ i { Z5~— BOARD | T T~ CHOSS'S XX-01 for M-4 thread
7/32 (5.6) .28 (7.1) N Ir \I } 20 (102) .07 (1.8) I AP RIVET Mating Nuts Threads
T T T ]—t Ui~ CHASSIS | llN7i555 2,0 a2
40 T, | HN-M3-79 M3
(10.2) .07 (1.8) ! HN-M4-01 M4
SNAP RIVET !
9/16 (14.3)
LCBS-L Material: Nylon 6/6, RMS-01
y
Locking Circuit Board Support, Color: Natural
Standard Pack: 1,000 per bag
L-Style 28 (7.0) PR TS "Arz 015 (0.4)
.138 (3.50) DIA. = :
| | LCBS-L-5-01 0.3 (7.6)
T ! LCBS-L-6-01 3/8 (9.5)
@p F——- T LCBS-L-7-01 7116 (11.1)
N I LCBS-L-8-01 172 (12.7)
*1 L LCBS-L-9-01 9/16 (14.3)
51 (13.0) TO SNAP—L;)CK IN A .126 (3.2) LCBS-L-10-01 5/8 (15.9)
+.003 (.08) DIA. HOLE, IN A i K i
fe— .85 (21.5) —=f 062 (1.57) THICK BOARD Installs with a #4 (M-3) Screw or Rivet

Part available in V-0 material by special order. To order,
replace -01 with -19.

.39 (10.0)

}
i
!

3
3

g

‘J)e (1.5) 4

D
18 R_lchco 773-539-4060 Samples: 1-800-621-1892




CIRCUIT BOARD HARDWARE

CBS-TFM
Circuit Board Support, Threaded Female-Male

CBS-TMM
Circuit Board Support, Threaded Male-Male

|
l
|
|
| 21/64 —
SN
4 | 7
*@' an Part Number Standard Pack: | | f
1000 per bag | | #6-32 THREAD
i i " Mat’l: Flame | { | ,/_ Standard Pack:
Mat’l: Nylon 6/6, Retardant Nylon, 1 Part Number 1000 per bag
RMS-01 A£015(0.4) |
’732 Color: Natural C IRM?\I- 1t9 I | ?7/ ;‘)5 Mat'l: Nylon 6/6 Mat’l:Flame
7.8 LRl ! AL e 676 | Retardant Nylon, | “A” x 015 (0.4)
T CBS-TMM-4-01 | CBS-TMM-4-19 1/4 (6.4) ! A T e RMS-19
o CBS-TMM-6-01 | CBS-TMM-6-19 3/8 (9.5) | | CBS-TFM-6-01 | CBS-TFM-6-19 3/8 (9.5)
A | CBS-TMM-8-01 | CBS-TMM-8-19 172 (12.7) | X CBS-TFM-8-01 | CBS-TFM-8-19 12 (12.7)
i T CBS-TMM-10-01| CBS-TMM-10-19| _ 5/8 (15.9) ! CBS-TFM-10-01 | CBS-TFM-10-19 5/8 (15.9)
» CBS-TMM-12-01| CBS-TMM-12-19|  3/4 (19.1) ! = CBS-TFM-12-01 | CBS-TFM-12-19 3/4 (19.1)
: CBS-TMM-14-01| CBS-TMM-14-19|  7/8 (22.2) | 30(7.6) = CBS-TFM-14-01 | CBS-TFM-14-19 718 (22.2)
(7.6) | =
CBS-TMM-16-01| CBS-TMM-16-19 1(25.4) | 1 = CBS-TFM-16-01 | CBS-TFM-16-19 1(25.4)
— |
f #6-32 THREAD "0 TMM-MA-XX-01 with M4 thread available by w CBS-TFM-M4-XX-01 with M4 thread available by special
(BOTH ENDS) : valabic | #6-32 THREAD ilable i i
special order. CBS-TMM-M4-XX-01 available in V-0 | order. CBS-TFM-M4-XX-01 available in V-0 material by
material by special order. To order, replace -01 with -19. ! special order. To order, replace -01 with -19.
HMSP-TM 16 Material: Nylon 6/6, RMS-01 « Color: Natural
Hex Mini Support Post Threaded (CR) Part No. S‘a"da’: Pa“'g:so‘()gj’)e' bag
AT s i
Male HMSP-TM-2-01 1/8 (3.2)
1874.010 HMSP-TM-3-01 3/16 (4.8)
(4.75%0.25) HMSP-TM-4-01 1/4 (6.4)
HMSP-TM-6-01 3/8 (9.5)
f HMSP-TM-8-01 112 (12.7)
T(g asstg O’;'; B’I‘AAH~$E§*i3°§ HMSP-TM-10-01 5/8 (15.9)
062 (1.57) THICK BOARD HMSP-TM-12-01 3/4 (19.1)
1 HMSP-TM-14-01 7/8 (22.2)
14
0
"
— !
#6-32 THREAD — .235%.010
\_,,, (5.9740.25)
—
— i
TCBS Material: Nylon 6/6, RMS-01 or Flame Retardant Nylon,
Screw Mount Circuit Board 1\ RMS-19 / Color: Natural
Flame Retardant Standard Pack:
Support ) Pg'r{"l’“"o Nylon 1000 per bag
‘ TO SNAP—LOCK IN : Part No. “A” + 015 (0.4) [Dim B + .015 (0.4)
A 156 +.003 (4.00 +0.08) TCBS-4-01 TCBS-4-19 1/4 (6.4) 13/64 (5.2)
Dia. HOLE, IN A .062 TCBS-6-01 TCBS-6-19 3/8 (9.5)
(1.57) THICK BOARD -
TCBS-8-01 TCBS-8-19 112 (12.7)
T TCBS-10-01 TCBS-10-19 5/8 (15.9)
TCBS-12-01 TCBS-12-19 3/4 (19.1)
TCBS-14-01 TCBS-14-19 718 (22.2) 5/16 (7.9)
, TCBS-16-01 TCBS-16-19 1 (25.4)
- | TCBS-18-01 TCBS-18-19 1-1/8 (28.6)
I I TCBS-20-01 TCBS-20-19 1-1/4 (31.8)
:']". :']". TCBS22.5:01| TCBS22.5-19 | 1- 13/32 (35.7)
1 1 1 1
NN [
[E] Hld

FOR #6 (M3.5)
SELF-TAPPING
SCREW (TYPE B)

21

&> .
773-539-4060 Samples: 1-800621-1822  JRICHCO



CIRCUIT BOARD HARDWARE

SSRS Material: Nylon 6/6, RMS-01
Stackable, Self-Retaining Spacer Color: Nutwrol
Standard Pack: 1000 per bag
Part No. unn o T Mounting Hole Dia. "
Features A B C +0.003 (.08) Screw Size
- Board mount head snaps in For #4 (M-3) Screw
and maintains spacing even SSRS4-2-01 | 1/8(3.2)
. SSRS4-3-01 | 3/16 (4.8)
when screw is removed. SSRsa4.01 | 1/4 (6.4)
« Self-retaining and self- SSRS45-01 | 516 (7.9
aligning. ssreicor | 3 (;_5)) 26 (6.6) 1/8 (3.2) 187 (4.7) #4
« Stackable to provide screw SSRS4-7-01 | 7/16 (11.1)
insulation in multi-level SSRS4-8-01 | 1/2 (12.7)
app“cations. SSRS4-10-01| 5/8 (15.9)
For #6 (M-3.5) Screw
SSRS6-4-01 | 1/4 (6.4)
SSRS6-5-01 | 5/16 (7.9)
SSRS6-6-01 | 3/8 (9.5)
SSRS6-7-01 | 7/16 (11.1)
SSRS6-8-01 112 (12.7) 5/16 (7.9) 153 (3.9) .234 (5.9) #6
SSRS6-10-01 | 5/8 (15.9)
SSRS6-12-01| 3/4 (19.1)
SSRS6-14-01 | 7/8 (22.2)
‘ SSRS6-16-01| 1 (25.4)
r[ | L 1/8 (3.2) TO LOCK IN A .062 (1.57) For #3 (M-4) Screw
\ THICK PANEL SSRS8-4-01 | 1/4 (6.4)
SSRS8-5-01 | 5/16 (7.9)
7 ‘ 7 f SSRS8-6-01 | 3/8 (9.5)
. SSRS8-7-01 | 7/16 (11.1)
| SSRS8-8-01 | 1/2(12.7) | 5/16(7.9) | .169 (4.3) 234 (5.9) #8
714 SSRS8-10-01 | 5/8 (15.9)
. SSRS8-12-01 | 3/4 (19.1)
—1 C" = SSRS8-14-01 | 7/8 (22.2)
SSRS8-16-01| 1 (25.4)
SRS ¢/ S
Self-Retaining Spacer Standard Pack: 1000 per bag
Part No. unn i e Mounting Hole Dia.
. - e +0.003 (.08)
For #4 (M-3) Screw
SRS4-2-01 1/8 (3.2)
SRS4-3-01 3/16 (4.8)
SRS4-4-01 1/4 (6.4)
SRS4-5-01 5/16 (7.9)
SRS4-6-01 3/8 (9.5)
SRS4-7-01 7116 (11.1) 1/4 (6.4) 1/8 (3.2) 187 (4.7)
SRS4-8-01 12 (12.7)
SRS4-10-01 5/8 (15.9)
Features SRS4-12-01 3/4 (19.1)
* Board mount head snaps in and SRS4-14-01 718 (22.2)
. ; SRS4-16-01 1(25.4)
maintains spacing even when For #6 (M-3.5) Screw
screw is removed. SRS6.4.01 14 (6.4) -
* Insulates head of screw from SRS6-5-01 5/16 (7.9)
board SRS6-6-01 3/8 (9.5)
SRS6-7-01 7116 (11.1)
SRS6-8-01 12 (12.7) 9/32 (7.1) 153 (3.9) 234 (5.9)
TO LOCK IN SRS6-10-01 5/8 (15.9)
‘ A .062 (1.57) SRS6-12-01 304 (19.1)
— THICK PANEL SRS6-14-01 718 (22.2)
1/8 (3.2) SRS6-16-01 1(25.4)
! f * For #8 (M-4) Screw
| SRS8-4-01 1/4 (6.4)
i "A” SRS8-5-01 5/16 (7.9)
* SRS8-6-01 3/8 (9.5)
S SRS8-7-01 7116 (11.1)
SRS8-8-01 12 (12.7) 932 (7.1) 169 (4.3) 234 (5.9)
nen »‘ |- »‘ "g” ‘« SRS8-10-01 5/8 (15.9)
SRS8-12-01 3/4 (19.1)
SRS8-14-01 718 (22.2)
SRS8-16-01 1(25.4)

&
773-539-4060 Samples: 1-800621-1822  JRICRHCO



